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Quantitative Aptitude for RRB NTPC (Solutions)

S1. Ans.(b)
Sol.

110 + 165 = 132 % f—gxtime
275 = 132 x — x time
18

Time = 7.5 seconds.

S2. Ans.(b)
Sol.
d . d  d 47
sTiT5%w
d (2u+15+12) _ 47
60 &0

dx2 2

60 &0
d=1
Total distance=3=1=3km

S3. Ans.(c)

Sol.

Speed - 9: 10

Time=10:9

1r = 20 min

Or = 180 min. = 3 hours
Distance = 10.x 3 hours = 30 km

S4. Ans.(c)

Sol.

Speed —x : x+5
Time —x+5:x
(x+5—x)r— 2 hours
5r— 2 hours

1r= Ehours

Kr— o X

300 = 2?“ (x +5)

1500 = 2x2 + 10x

%2+ Gx =750

X+ 5x—750=0

%2+ 30x—25x—750=0
x= 25 —-30

speed = 25 km/hr
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S5. Ans.(c)

Sol.

Speed of sound = % =332 m/sec
S6. Ans.(a)

Sol.

Relative speed of A & B =6—1 =5 rounds/hours

With this speed they will complete one round in

1 60 )
== h=—=12 minutes
5 5

They will mesetat = 7:42am

S7.Ans.(c)
Sol.

2%20X40  2X20x40
20440 6D
20

=5 = 26.68 km/hr

Average speed =

S8. Ans.(a)
Sol.
28 = (46— 36) xf—BxEE
28 = 10 x — x 36
18
£=50m

S9. Ans.(c)

Sol.

After 5 minutes, the top runner covers 2 round i.e. 400 m & the last runner covers 1 round i.e. 200 meters
= Top Runner covers 800 m race in 10 minutes

S10. Ans.(b)
Sol.
Due to stoppage train travels = 45— 36= 9 kms less inan hour

The train stops per hour for = % ¥ 60 = 12 minutes

S11. Ans.(a)

Sol.

1+4+6+5+11+6+............... 100 terms
=[1+6+11+............ 50terms] +[4+45+6+............ + 50 terms]

50 50
=?[2x1+(50—1]5]+?[2><4+(50—1)><1]

=6175+ 1425
=7600
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S12. Ans.(a)
Sol.

-2- 3+2 3- 4+3 4 - 5+ v Upto 99 terms

=—4 -5 —-6.. .. uUpto 33 terms
== [2x (-4) +(33- 1) x (-1)
=-660
S13. Ans.(b)
Sol.
1 2- 3+|2 3- 4+3 4— 5+ cveeer. UPt0 100 terms
=—4-5-6+...ccocesnen. Upto 33 terms + 34
=-660+ 34
=-626
S14. Ans.(b)
Sol.
Number exactly divisible by 9
=18+27+34+45+............... 99
No. of terms, n = ——2 + 1

o +1=10
=3 =

Sum of the series = g [15f term + last term]

10
= ?[18 o |

=585
$15. Ans.(c)
Sol.
2-digit numbers that leaves remainder 3 when divided by 9 are
12,21,30,. ... ,93
Number of terms = 2> + 1
81
=3 +1=10
Sum of the series = 12—0 [12 + 93]
=5x105=525
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S16. Ans.(d)

Sol.

T,+Ts=8
a+d+a+4d=8
2a+5bd=8 (i)
T;+T-=14
a+2d+a+6d=14
2a+8d=14 . (11)
From (i) & (ii)

3d=6

d=2

2a+10=8

Za=-2

a=-1

T,i=a+10d
=-1+20=19

$17. Ans.(d)

Sol.
atat+dd+a+ad+a+19d+a+23d=225

5a+5hhd =225
a+11d=45

523:22—3[2“ 22d]
=23/2x90=1035

$18. Ans.(c)

Sol.

S,=n%+2n

S:=1+2=3

1stterm = 3

S,=4+4=8
2dterm=8-3=5

Common difference=5-3=2

$19. Ans.(a)
Sol.
Sum of 15t 11 terms = Sum of 15t 19 terms.

11 19
— ?[Za + (11— 1d] = = [2a + (19 — 1)d]

22a+110d=38a+ 342d
16a+232d=0
2a+29d=20

Sum of 130 terms = > [2a + 29d]
=0
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S20. Ans.(a)
Sol.

Sum of n terms of Ist A.P %[2(1 + (n — 1)d]
Sum of nterms of 2nd A.P % [24 + (n — 1)D]

2a+(n—1)d 2n-3

2A+(m—1)D 3n+1
Tyof 1st AP a+8d

T,of 2nd A.P A+ 8D

a+(n£1)d ?n—3

(n—l)D 3In+1

2
n—1
S—=8 n=17
Toof 1st AP  34—3 31
Toof 2nd A.P 51+1 52

4+

S21. Ans.(c)
Sol.

General formula,
cotAcotB-1

cotA + cotB =
cotA + cotB

S22. Ans.(c)
Sol.

CP of 1 kg of almond = 1250 x

Now, on selling it for Rs. 1375
1375 -1344

1344

100
93

= Rs. 1344

» 100
= 2.3%

S23. Ans.(a)

Sol.

ATQ,

m (r?) = 25 = 3850
r’ =49

r=7cm

S24. Ans.(a)

Sol.

tan® - sin®A
sin? A
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S25. Ans.(c)
Sol.

Sagar — 1Bdayse_ 4
>lﬂ
Madhur = 9 days 2

Mo. of days to complete the work together

B 18 _ed

BT A

S26. Ans.(a)

Sol.

: ot 550 .
ncrease 1n rare = F X
= Rs. 350

S27. Ans.(c)

Sol.

From Euler's Formula

Vertices - Edges + Faces = 2
Vertices - 30+ 12=2
Vertices = 20

S28. Ans.(a)

Sol.

(x+vy)* =x"+y* + 2xy
(x+y)2=100+2x22
(x+y)° = 144

x+y=+v144=12

$29. Ans.(d)

Sol.

Go by options,

Only Eq®. [4x” + 8% + 4 = 0] has equal roots.
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